AN AN

MULTI-ROTOR TECHNOLOGY

L W

Diagonal Wheelbase:950mm

| MAX.Prop.18 inch
www.gauimrt.com.tw Total weight:1900 g +3%




Please install the frame posts to the upper-frame as the figure shows.

AFERfEaNE RS S EAR -

¥ ¥
! ¥ ! ¥ M3x5
| |
i: ¥ : : : Tt ; ‘3/ K ')"\ All Screws need to be
| | ! | ! | | | A (Vapplied with thread locker.
¥ ! | ;¥ R B B R AT D
\ I sl
| - |

Install down-frame as the figure shows.

S S T AN N ElHRE S -

M3x5

- *‘\ All Screws need to be
¥ A Yapplied with thread locker.
I T Rk F LA -

Please install "boom mount” to the frame as the figure shows.

IS ERENEHEKS

M3x5
L \

.. All Screws need to be ‘i
4@Yapplied with thread locker.
N RO bR -

Make sure this screws are tighte
before any take off flight.
FATHI S B RFERS LIS E S EHE o

Tighten the screws as figure shows.

S HE 5 R L0 R $H 08k -

,f'*\ All Screws need to be
4@*applied with thread locker.
o BEOE EIEEE -




After the boom insert to motor mount, screw the M3x5 first and then tighten
M2x8 and M3x8 after.

BhEHE A FRAE R STASMIXSIE (AZ A EH L FE SHERM2x8 R M3x 8ZHh o
LS N

¥ M35 M2x8

(,»*\‘ All Screws need to be
A yapplied with thread locker.
N BB LA EE -

$

el
M3x8

Insert boom to boom mount and screw M3x5 as figure A shows to secure boom position.
Adjust motor mount and body to level then tighten the M3x8 as figure B shows.

AEEhE AN E A E (L4 8H EBAE ARG - WiEHE R 5 R 2 K T 14 8HEE

BEBiZRAA o

Assemble landing gear boom as figure shows, and install whole landing gear
to body frame.
AERIZRTE R e E - BRREEINRIMN TEHEEERS -

K ""\ All Screws need to be

A yapplied with thread locker.
.(, IR LR o

Connect two landing gear wires with Y connector, then connect Y connector to

BEC and receiver as picture shows.Please choose proper channel when

connect the Y connector and receiver. . .

W AT SRS B Y B+ S Y B AN B BEC R+ SRS

EEABENETEREE o
YRR

Y connector

Positive and negative
have to correct when
connecting.

TR E B B IRIERE

Use tape to secure the
connection and to prevent
the connection come off
while flying.
{5 FA BTG 7 B @ 0 RO 13
TIEIILIEE - LB R AT
RRSE o

B

Tape




Please lift the 950H and test the folding landing gear after

complete the installation.

Attention: There is about 1~1.5 second of delay between on/off switch,
do not repeat on/off switch operation within short period of time.
RRTHEB BRI ESIBS AR

AR BXIREREAREE 1. SR EERIRSRE - T rEERE -

MRT Sliding Track

ZheEER R
o |- Install sliding track to the frame as figure shows.
Y BELBEENEEEERS o

. M6
3. Install gimbal hanger and use M3x6
screws to secure it after checking

all units are in proper position.
2. Adjust the sliding track to require distance. TR ER K LE L BIZERMIX6LEFF
KATRERBt R AHE A - BRARTE (L ©

i I - I
@ 155mm Q‘}E\F% @m«w =/ ﬁf

MRT Shared Battery Tray
ZhieE L AEMRE

")\x All Screws need to be

‘4, ,Yapplied with thread locker.
W Rk b uERE o

Power distributor board can be placed in three
different positions depend on demand.

A& K SRS BEAT P - BZEHRUE -

‘ - All Screws need to be

A ,Vapplied with thread locker.
o BB LR

N
M3x7 -
* Indeed secure the battery with

As illustration above, using rubber ring.

assemble the battery tray. REMRIZEEREBEE -
A& EARAELN_E B4 -

155mm

60

Set the required distance by

need to stick with Velcro tape. ?};;;gé%%%ﬁf:%péu i
TR T L BEREE - riRRERE AR




